02x Solving Trigonometric Problems.notebook April 26, 2012

For any angle of interest (9), there are three (3)
primary trigonometric ratios.

: ___opposite
sine of 6= hypotenuse \60098 . §
: o) o 3
cosine of 9= adjacent ) D o
hypotenuse o]
__opposite 0
tangent of 9= adjacent

adjacentto

SohCahToa

Dec 7-9:58 PM

The Sine Law (2 formats):
In A ABC,

a_ _ b __GC
sinA sinB sinC

or

sinA _ sinB _ sinC
a ~ b ¢

May 14 - 9:36 PM
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The cosine law:
a’=b%*+c’-2bccosA
b’=a’+c’-2accosB

c’=a’+b’-2abcosC

Apr 19-9:16 PM

Angle of Elevation (or Inclination): the angle
measured above the horizontal.

Angle of Depression (or Declination): the angle
measured below the horizontal.

angle of elevation

_________________________ >

angle of depression

Dec 9-9:41 PM
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Compass Directions & Bearings

(a) A compass direction is measured from

N, S, E, or W. The angles are always
between 0° and 90°.

(b) A bearing is always measured from north,
in a clockwise direction. The values are
from 000 to 360 (but less than 360).

Jun 1-9:34 PM

Solving Trigonometric Problems A,.-zs/uz
et ( similor p.270)

To calculate the height of an inaccessible cliff, data are
collected and recorded on the diagram below. Calculate
the height of the cliff to one decimal place.
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Ex.2

From the top of a 50 m high bridge, two boats are seen
at anchor. One boat is S50;W and has an angle of
depression of 38°. The othér boat is S60°E and has a
35° angle of depression. How far apartgre the boats?
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Apr 19-9:19 PM

Ex.3

Two roads intersect at 34°. At 9:00, two cars leave
the intersection on different roads at speeds of 80
km/h and 100 km/h. At 11:00, a traffic helicopter is
right above the slower car, at a height of 15000 m.
Determine the angle of depression and the distance
from the helicopter to the faster car.

Apr 19-9:13 PM
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Assigned Work:

p.274 #13, 16,(18)(19)
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Dec 10-10:43 PM
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Apr 26-12:34 PM
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